03092_F M A BN RLE | TRUHEN P RIRS

7= miiEA

ME
W
TREHTE(LALER -
BMEER 5.8,

TEHEM
TRESRE(LALIE -
1B ER 1.4305,
T4 1.4034,

T KRR E(CALTE ;

1B IR 1.4305,

R4 1.4305,

WA

Ml

TMEEZREL., MBI LAE,

&4

TEHKLEL, MXNBEELE, TMHERKLENL, HAXMBREA

B,

BR:
. 7 PEHBTEEIH4HLEMNRMNESS ., REFRHEKEETERIE
| HUE, MEMTET E U ZESENIEF, A, XFEEETT
i n BN BESREXUEEE , REBELHEE LB TITREES,
:_D \<ire 9 BREER -
i RREH,
| M

Z EFRER 03089

© norelem www.norelem.com



03092_F MAEIRTHMHEHE | WBLUENH BT

D2
Y
A
* W1
Y
N
~J
Sz
-~ A
h
5| 3
P _|_
A [
-0,02
- D5
D1
03092-2903 F | W% | 2BLLE 3 M6x0,75 M2 24|12 5|3,5(10|3,5 8 10 0,8 45 10
03092-2004 F | W% | 2BLLE 4 M8x1 M3 32|15 6| 7 (13| 4 10 13 1 6 12
03092-2105 F | 9% | 2WELLE 5 M10x1 M4 37|17 7| 8 (15| 5 13 17 1,3 5 12
03092-2206 F | W% | 2BLLE 6 M12x1,5 M6 42|20 8| 8 (17| 6 14 19 1,8 6 14
03092-2308 F | W% | RELLLE 8 M16x1,5 M8 56|26 10| 12 (23| 8 19 24 2,3 15 35
03092-2410 F | 9% | 2@{LAE 10| M20x1,5 M8 62|28 12| 12 |25/ 10| 22 30 2,8 15 34
03092-2412 F | W% | 2BLALE 12| M20x1,5 M8 66|28 14| 12 [25| 12| 22 30 2,8 15 39
03092-2516 F | W& | RELLE 16 M24x2 M10 80|32 18| 14 |28| 16 | 27 36 3,2 20 46
03092-02903 F |75 2BLLE 3 M6x0,75 M2 24|12 5|3,5(10|3,5 8 10 0,8 45 10
03092-02004 F |75 RFLLE 4 M8x1 M3 32|15 6| 7 (13| 4 10 13 1 6 12
03092-02105 F | T5WN| 2BLLE 5 M10x1 M4 37|17 7| 8 (15| 5 13 17 1,3 5 12
03092-02206 F |89 2E{LLE 6 M12x1,5 M6 42|20 8| 8 (17| 6 14 19 1,8 6 14
03092-02308 F | T8W| £E{LLE 8 M16x1,5 M8 56|26 10| 12 (23| 8 19 24 2,3 15 35
03092-02410 F |T5W 2@{LAE 10| M20x1,5 M8 62|28 12| 12 |25/ 10| 22 30 2,8 15 34
03092-02412 F | 75N KFLALE 12] M20x1,5 M8 66|28 14| 12 [25| 12| 22 30 2,8 15 39
03092-02516 F | 5N 2F{LLE 16 M24x2 M10 80|32 18| 14 |28| 16 | 27 36 3,2 20 46
03092-12903 F |89 RELE 3 M6x0,75 M2 24|12 5|3,5(10|3,5 8 10 0,8 45 10
03092-12004 F |89 RELLE 4 M8x1 M3 32|15 6| 7 (13| 4 10 13 1 6 12
03092-12105 F | T8N KRELLE 5 M10x1 M4 37|17 7| 8 (15| 5 13 17 1,3 5 12
03092-12206 F | T8N KELLE 6 M12x1,5 M6 42|20 8| 8 (17| 6 14 19 1,8 6 14
03092-12308 F | &N KRELLE 8 M16x1,5 M8 56|26 10| 12 (23| 8 19 24 2,3 15 35
03092-12410 F | 89| KELLLE 10| M20x1,5 M8 62|28 12| 12 |25/ 10| 22 30 2,8 15 34
03092-12412 F |84 RELLE 12| M20x1,5 M8 66|28 14| 12 [25| 12| 22 30 2,8 15 39
03092-12516 F | THW| RELLE 16 M24x2 M10 80|32 18| 14 |28| 16 | 27 36 3,2 20 46

© norelem www.norelem.com



